STEM Poetry Rubric

Category 3-Excellent 2-Good 1-Satisfactory

Academic The poem has at least The poem has at least The poem uses one

vocabulary four key vocabulary two or three key or no key vocabulary
words that relate to the | vocabulary words that words that relate to the
occupation. relate to the occupation. | occupation.

Clarity Use of academic Use of academic There are difficulties

of use of vocabulary is accurate. vocabulary is usually with the use of academic

academic accurate. vocabulary.

vocabulary

Poetic form

All lines in the poem fit
the chosen form.

Most of the lines of the
poem fit the chosen
form.

Few of the lines in the
poem fit the chosen
form.

meaning of the poem.

to the meaning.

Spelling, All words are spelled There are a few There are multiple

grammar, correctly, with difficulties with spelling, | difficulties with spelling,

punctuation | proper grammar and grammar, and/or grammar, and/or
punctuation used. punctuation. punctuation.

Images Images add to the Images add somewhat There is a disconnect

between image and
poem.
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